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MATHS

BOOKS - TARGET MATHS (HINGLISH)

CO-ORDINATE GEOMETRY

1.In the figure , seg AB || Y -axis and seg CB||X-

axis . Co-ordinates of points A and C are given .


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4SwJZUcjjuQH

To find AC, fill in the boxes given below .

C(-2,2)
! " —o—o—> X
XT35900 1 2 3
_II
-2
_31
YI

o Watch Video Solution

2. Solve the following questions. (Any two )

(ii) A (15,5) ,B(9,20) and A-P-B . Find the ratio in


https://dl.doubtnut.com/l/_4SwJZUcjjuQH
https://dl.doubtnut.com/l/_37gqKDt1EGDm

which point P(11,15) divides segment AB. Find
the ratio using x and y co-ordinates . Write the

conclusion .

o Watch Video Solution

Practice Set 5 1

1. Find the distance between each of the
following pairs of points .

(1) A(2,3),B(4,)

o View Text Solution



https://dl.doubtnut.com/l/_37gqKDt1EGDm
https://dl.doubtnut.com/l/_giQj9dZZ1mdG

2. Find the distance between each of the

following pairs of points .

P (-5,7) ,Q(-1,3)

o View Text Solution

3. Find the distance between each of the

following pairs of the points.

R(0, — 3),5(0, g)

° Watch Video Solution



https://dl.doubtnut.com/l/_giQj9dZZ1mdG
https://dl.doubtnut.com/l/_Jx7HWZjyVOM3
https://dl.doubtnut.com/l/_jmPy2cxlUKap

4. Find the distance between each of the

following pairs of the points.

L(57 - 8)7M( — 7, — 3)

° Watch Video Solution

5. Find the distance between each of the

following pairs of the points.

T( R 3a 6)7 R(97 T 10)

° Watch Video Solution



https://dl.doubtnut.com/l/_jmPy2cxlUKap
https://dl.doubtnut.com/l/_r81pp86CAgLb
https://dl.doubtnut.com/l/_yZ8NNOe7elrB

6. Find the distance between each of the

following pairs of points:

W(_T7 4), X(11, 4)

° Watch Video Solution

7. Determine whether the points are collinear

or not:

A(1, —3),B(2, —5),C(—4,7)

° Watch Video Solution



https://dl.doubtnut.com/l/_RHjmBGhsNfRs
https://dl.doubtnut.com/l/_4fosjvOQdsnq
https://dl.doubtnut.com/l/_2MDnVB3w0ypb

8. Determine whether the points are collinear.

L( —2,3), M(1, — 3), N(5, 4)

o Watch Video Solution

9. Determine whether the points are collinear.

R(0,3), D(2,1) and S(3, — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_2MDnVB3w0ypb
https://dl.doubtnut.com/l/_eBiTPUdMT3iB

10. Determine whether the points are collinear.

P(—-2,3),Q(1,2),R(4,1)

o Watch Video Solution

1. Find the point on the X-axis which is

equidistant from A( — 3, 4) and B(1, — 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_YOLzGk2OB7sj
https://dl.doubtnut.com/l/_U6RO0xmzp7zL

12. Verify that point P (-2,2), Q (2,2) and R (2,7)

are vertices of a right angled triangle .

° View Text Solution

13. Show that points P(2,-2) , Q (7,3) ,R(11,-1) and
S(6,-6)

are vertices of a parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_zEphpSkqgzrF
https://dl.doubtnut.com/l/_ImPveJp9kV9u

14. Solve the following quations. (Any two)
(i) Show that points A(-4,7),B(-1,2) ,C(8,5) and

D(5,-4) are vertices of rhombus ABCD.

o Watch Video Solution

15. Find x, if distance between points

L(x,7) and M(1,15) is 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_vA9Szb026ogW
https://dl.doubtnut.com/l/_6x7Ee8sq3HJ6

16. Show that the points
A(1,2), B(1,6),C(1+ 2,/3,4) are vertices

of an equilateral triangle.

o Watch Video Solution

Practice Set 5 2

1. Find the co-ordinates of point P if P divides

the line segment joining the points

A(—1,7) and B(4, — 3) in the ratio 2: 3

| e |


https://dl.doubtnut.com/l/_oJMz4vP8lkr0
https://dl.doubtnut.com/l/_eJQfmd77Qely

& Wwatch Video Solution I

2. In each of the following examples find the
co-ordinates of point A with divides segment
PQ in theratio a: b.

P(—-3,7,Q(1, —4),a:b=2:1

o Watch Video Solution

3. In each of the following examples find the

co-ordinates of point A with divides segment


https://dl.doubtnut.com/l/_eJQfmd77Qely
https://dl.doubtnut.com/l/_ra3oSee9JqPj
https://dl.doubtnut.com/l/_xWilASzcD2F0

PQ in the ratio a: b.

P(—2 —5),0Q(4,3),a:b=3:4

° Watch Video Solution

4. In each of the following examples find the
co-ordinates of point A which divides segment
PQ in the ratio a:b .

P(2,6),0(-4,1) ,a:b=3:4

o Watch Video Solution



https://dl.doubtnut.com/l/_xWilASzcD2F0
https://dl.doubtnut.com/l/_VGFPUDt9GyfJ

5. Find the ratio in which point T'( — 1, 6)

divides the line segment joining the points

P(—3,10) and Q(6, — 8)

o Watch Video Solution

6. Point P is the centre of the circle and AB is a
diameter. Find the cO-ordinates of point B if
co-ordinates of point A and P are

(2, — 3) and ( — 2, 0) respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_OCd8V1Q0aVQE
https://dl.doubtnut.com/l/_2JgCIlzQvYiL

7. Find the ratio in which point P (k,7) divides
the segment joining A (8,9) and B (1,2) . Also

find find k.

° View Text Solution

8. Find the coordinates of midpoint of the

segment joining the points (22,20) and (0,16).

o Watch Video Solution



https://dl.doubtnut.com/l/_2JgCIlzQvYiL
https://dl.doubtnut.com/l/_FN9peXQJudrB
https://dl.doubtnut.com/l/_CDsng85Pb47v
https://dl.doubtnut.com/l/_PzDkgkaFzrVG

9. Find the centroids of the triangles whose

vertices are given below:

(—17,6),(2, —2),(8,5)

o Watch Video Solution

10. Find the centroids of the triangles whose

vertices are given below:

(3, —5),(4,3), (11, — 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_PzDkgkaFzrVG
https://dl.doubtnut.com/l/_AKNZT6dUfXHn

11. Find the centroids of the triangles whose

vertices are given below:

(4,7), (8,4), (7,11)

o Watch Video Solution

12.In AABC,G( — 4, — 7) is the centroid. If
A(—14, —19) and B(3,5) then find the

coordinates of C.

o Watch Video Solution



https://dl.doubtnut.com/l/_hskYHFGmatwe
https://dl.doubtnut.com/l/_1QZrXZsgk3et
https://dl.doubtnut.com/l/_0D39MwN3Rc8V

13. A(h, —6),B(2,3) and C( — 6,k) are
the co-ordinates of vertices of a triangle

whose centroid is G(1, 5) Find h and k.

o Watch Video Solution

14. Find the co-ordinates of the points of
trisection of the line segment AB with A (2,7)

and B (-4,-8) .

o Watch Video Solution



https://dl.doubtnut.com/l/_0D39MwN3Rc8V
https://dl.doubtnut.com/l/_ObCiXUrLhHcX
https://dl.doubtnut.com/l/_0m9mkV0Re9Ii

15.1f A( — 14, — 10), B(6, — 2) is given. Find
the coordinates of the points which divide

segment AB into four equal parts.

o Watch Video Solution

16. If A (20,10) ,B (0,20) are given , find the co-
ordinates of the points which divide segment

AB into five congruent parts.

o View Text Solution



https://dl.doubtnut.com/l/_0m9mkV0Re9Ii
https://dl.doubtnut.com/l/_t8ghvrYUpi6Q

Practice Set 5 3

1. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines.

45°

o Watch Video Solution

2. Angles made by the line with the positive

direction of X-axis are given. Find the slope of


https://dl.doubtnut.com/l/_8xZHoduwsAJl
https://dl.doubtnut.com/l/_lYObJmZYzISz

these lines.

60°

° Watch Video Solution

3. Angles made by the line with the positive
direction of X-axis are given . Find the slope of

these lines .

(iii) 90°

o View Text Solution



https://dl.doubtnut.com/l/_lYObJmZYzISz
https://dl.doubtnut.com/l/_AuDTNUyIuBr3

4. Find the slope of the lines passing through
the given points

A(2,3),B(4,7)

o Watch Video Solution

5. Write the slope of line passing through

P(-3,1) and Q(5-2).

o Watch Video Solution



https://dl.doubtnut.com/l/_OvPHdKNq5qU0
https://dl.doubtnut.com/l/_ImcJbHvMwSaU

6. Find the slopes of the lines passing through

the given points:

C(5, —2),D(7,3)

o Watch Video Solution

7.Find the slopes of the lines passing through

the given points:

L(—2, —3),M(—6, —8)

o Watch Video Solution



https://dl.doubtnut.com/l/_ryhpMB9kr4WH
https://dl.doubtnut.com/l/_wVa7m4ZN4oh6
https://dl.doubtnut.com/l/_iH5KDxcddB0o

8. Find the slopes of the lines passing through

the given points:

E(—4, —2),F(6,3)

o Watch Video Solution

9. Find the slopes of the lines passing through

the given points:

T(0, — 3) and S(0, 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_iH5KDxcddB0o
https://dl.doubtnut.com/l/_REMCrzjQy5Sr
https://dl.doubtnut.com/l/_j02ClDwandFA

10. Determine whether following points are

collinear.

A(—1, — 1), B(0,1), C(1, 3)

o Watch Video Solution

11. Determine whether following points are

collinear.

D( -2, —3), E(1,0), F(2,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_j02ClDwandFA
https://dl.doubtnut.com/l/_BSdmzqNZoZsT

12. Determine whether following points are

collinear.

L(2,5), M(3,3), N(5,1)

o Watch Video Solution

13. Determine whether following points are

collinear.

P(2, —5),Q(1, — 3), R( — 2,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_CJfroYbWDLmh
https://dl.doubtnut.com/l/_1QX5Kmg2Tr0P
https://dl.doubtnut.com/l/_rRfbO5cKXGp1

14. Determine whether the following points

are collinear or not:

R(1, —4),8(—2,2), T( - 3,4)

o Watch Video Solution

15. Determine whether the following points

are collinear or not:

A — 4, 4),K< — 2, g),N(AL, —2)

° Watch Video Solution



https://dl.doubtnut.com/l/_rRfbO5cKXGp1
https://dl.doubtnut.com/l/_s5iesqRVNefH
https://dl.doubtnut.com/l/_p4yOd18mzykQ

16. If A(1, —1),B(0,4),C(—5,3) are
vertices of a triangle, then find the slope of

each side.

° Watch Video Solution

17. Show that A (-4,7) , B (-1,2) ,C (8,5) and D

(5,-4) are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_p4yOd18mzykQ
https://dl.doubtnut.com/l/_p0FNcik4TFny

18.Find k, if R(1, — 1), S( — 2, K) and slope

of line RS is — 2.

o Watch Video Solution

19. Find k, if B(k, — 5), C(1, 2), and slope of

the lineis 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_rfrw1yRQeMbw
https://dl.doubtnut.com/l/_6ChHYupclKaX

20. Find k, if PQ | | RS and P(24), Q (3,6), R

(3,1), S(5,k).

o Watch Video Solution

Problem Set 5

1. Seg AB is parallel to Y-axis and coordinates

of point of A are (1,3) then coordinates of

point B can be

A.(3))


https://dl.doubtnut.com/l/_gYVB3DklVg2I
https://dl.doubtnut.com/l/_rHYHnaZwFAOw

B. (5,3)

C.(3,0)

D. (1,-3)

Answer: D

o Watch Video Solution

2. Out of the following point ... lies to the

right of the origin on X-axis.

A. (-2,0)


https://dl.doubtnut.com/l/_rHYHnaZwFAOw
https://dl.doubtnut.com/l/_jrVf9PVOqB5i

B. (0,2)

C.(2,3)

D. (2,0)

Answer: D

o Watch Video Solution

3. Distance of point (-3,4) from the origin is

A7


https://dl.doubtnut.com/l/_jrVf9PVOqB5i
https://dl.doubtnut.com/l/_8DRxxJm7rYNQ

B.1

C.5

Answer: C

o Watch Video Solution

4, A line makes an angle of 30° with the
positive direction of X-axis. So the slope of the

lineis ...


https://dl.doubtnut.com/l/_8DRxxJm7rYNQ
https://dl.doubtnut.com/l/_JeiW0Q8q5IXr

N w
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S

o

Answer: C

° Watch Video Solution

5. Determine whether the given points are

collinear.

A(07 2)7 B(]-a o 05)7 0(27 o 3)


https://dl.doubtnut.com/l/_JeiW0Q8q5IXr
https://dl.doubtnut.com/l/_2SSFhmwd1cTq

° Watch Video Solution

6. Determine whether the given points are

collinear.

pit2.(2 8).n(s.2)

o Watch Video Solution

7. Determine whether the given points are

collinear.

L(1,2), M(5, 3), N(8, 6)



https://dl.doubtnut.com/l/_2SSFhmwd1cTq
https://dl.doubtnut.com/l/_WSHMb8a2Sr3K
https://dl.doubtnut.com/l/_blfSRJZtrqjh

I D Watch Video Solution

8.Find the coordinates of the midpoint of the

line segment joining P(0, 6) and Q(12, 20)

o Watch Video Solution

9. Find the ratio in which the line segment
joining the points A(3,8) and B( — 9, 3) is

divided by the ‘Y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_blfSRJZtrqjh
https://dl.doubtnut.com/l/_3J3Q1r17JQiN
https://dl.doubtnut.com/l/_Oqj5cyppGEfp

10. Find the point on X axis which is

equidistant from P(2, — 5) and Q( — 2, 9)

o Watch Video Solution

1. Find the distance between the following
pairs of poins.

A(a,0), B(0, a)

o Watch Video Solution



https://dl.doubtnut.com/l/_OmHtCvwdivqi
https://dl.doubtnut.com/l/_DsbYOUJqnGQj

12. Find the distance between the following
pairs of poins.
P(_67 _3)7Q(_179)

A.Find the distances between the

following points .

R(-3a,a),S (a,2a) .


https://dl.doubtnut.com/l/_CScnl4qq2jG7

Answer: .. d(P,Q)=13 units

o Watch Video Solution

13. Find the distance between the following
pairs of poins.

R( — 3a,a), S(a, — 2a)

o Watch Video Solution

14. Find the co-ordinates of the circumcentre

of a triangle whose vertices are (-3,1) ,(0,-2) and


https://dl.doubtnut.com/l/_CScnl4qq2jG7
https://dl.doubtnut.com/l/_jQ4YIecDcKoy
https://dl.doubtnut.com/l/_KkQ77P3IawWS

(1,3) .

o Watch Video Solution

15.In the following examples, can the segment
joining the given points form a triangle? If
triangle is formed, state the type of the triagle

considering sides of the triangle.

L(6,4), M( — 5, — 3), N( — 6, 8)

o Watch Video Solution



https://dl.doubtnut.com/l/_KkQ77P3IawWS
https://dl.doubtnut.com/l/_whz7i2Y86yFh

16. In the following examples , can the
segment joining the given points from a
triangle ? If triangle is formed , state the type
of the triangle considering sides of the
triangle.

(i) P(-2,-6) , Q (-4,-2) ,R(-5,0)

o Watch Video Solution

17.In the following examples , can the segment

joining the given points from a triangle ? If


https://dl.doubtnut.com/l/_Y0wdcetzoFwG
https://dl.doubtnut.com/l/_71hQNtCo9Oi7

triangle is formed , state the type of the
triangle considering sides of the triangle.
(iii) A

(VE V3, B(~ V3, —v3),C( VB, V)

° Watch Video Solution

18. Find k if the line passing through points

1
P( — 12, — 3) and Q(4, k) has slope 5

o Watch Video Solution



https://dl.doubtnut.com/l/_71hQNtCo9Oi7
https://dl.doubtnut.com/l/_rJZ2niRrr2yP

19. Show that the line joining the points A(4,8)
and B(5,5) is parallel

to the line joining the points C(2,4) and D(1,7).

o Watch Video Solution

20. Show that points
P(1, —2),Q(5,2),R(3, —1),S(—1, —5)

are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_JUDZ9QICyx13
https://dl.doubtnut.com/l/_OC9fVw0fV3Dr
https://dl.doubtnut.com/l/_GUK1Z3ULxSYA

21. Show that the points P(2,1), Q(-1,3) , R (-5,-3)
and

S (-2,-5) are the vertices of a square .

o Watch Video Solution

22. Find the lengths of the medians of a

triangle whose vertices are

A(—-1,1), B(5, —3) and C(3,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_GUK1Z3ULxSYA
https://dl.doubtnut.com/l/_VMJEETNV8Q7Q
https://dl.doubtnut.com/l/_JUVmlPc0HQIB

23. Find the co-ordinates of centroid of the
triangles if points
D(—17,6), E(8,5) and F(2, —2) are the

mid points of the sides of that triangle.

° Watch Video Solution

24. Show that points A (4,-1)B (6,0) C (7,-2) and

D (5,-3) are the veties of a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_JUVmlPc0HQIB
https://dl.doubtnut.com/l/_fuCBrqODJEwD

25. Find the co-ordinates of circumcentre and
radius of circumcircle of /A ABC if A(7,)

,B(3,5) and C(2,0) are given .

o Watch Video Solution

26. Given A(4, — 3), B(8,5). Find the co-
ordinates of the point that divides segment

AB in the ratio 3: 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_6i4KNv8ra6zG
https://dl.doubtnut.com/l/_jkVVtLzGwkoL
https://dl.doubtnut.com/l/_8MxuBz4XTMeX

27. Find the type of the quadrilateral, if point
A(—-4, —2),B(—-3, —7),C(3, —2) and

D(2, 3) are joined serially.

o Watch Video Solution

28. The line segment AB is divided into five
congruent parts at P ,Q ,R and S such that A-P-
Q-R-S-B . If point Q (12,14) and S(4,18) are given ,

find the co-ordinates of AP,R,B.

o View Text Solution



https://dl.doubtnut.com/l/_8MxuBz4XTMeX
https://dl.doubtnut.com/l/_FE6zpTo5xqZT

29. Find the co-ordinates of the centre of the

circle  passing  through  the  point,

P(6, —6),Q(3, —7) and R(3,3)

o Watch Video Solution

30. Find the possible pairs of co-ordinates of
the fourth vertex D of the parallelogram if
three of its verices are A (5,6) , B (1,-2) and C

(3,-2) .

° View Text Solution



https://dl.doubtnut.com/l/_OgRfn7dnF9CC
https://dl.doubtnut.com/l/_HTqaRA3DGZMu

31. Find the slope of the diagonals of a
quadrilateral with vertices

A(1,7), B(6,3)C(0, — 3) and D( — 3, 3).

o Watch Video Solution

Activities For Practice

1. Find the point on the X-axis which is

equidistant from A( — 3, 4) and B(1, — 4).

l ° Watch Video Solution


https://dl.doubtnut.com/l/_HTqaRA3DGZMu
https://dl.doubtnut.com/l/_ChVXTk0LNP2r
https://dl.doubtnut.com/l/_9grX28ndyVgm

2. Coplete the following activities. (any one )

(i) If the passing through points P (-12,-3) and
Q(4,k) has slope % , complete the activity to
find the value of k.

o Watch Video Solution

3. To show that A( -4,-2) ,B (-3,7) ,C(3,-2) and D

(2,3) are the vertices of a parallelogram

° Watch Video Solution



https://dl.doubtnut.com/l/_9grX28ndyVgm
https://dl.doubtnut.com/l/_wXN5OUYM17j3
https://dl.doubtnut.com/l/_447Rt11fDP1q

4. Complete the table below the graph with

the help of the following graph.

Scale:On both axes
1 cm = 1 unit

4(3, 3)

SN

E—3ﬁ°{B 0,-3)



https://dl.doubtnut.com/l/_447Rt11fDP1q
https://dl.doubtnut.com/l/_ivwcQ16eJR5r

o Watch Video Solution

Multiple Choice Questions

1. The distance of the point (4,3) from the X -

axis iIs

A2

B.3

C.4

D.5


https://dl.doubtnut.com/l/_ivwcQ16eJR5r
https://dl.doubtnut.com/l/_4jmr85vuHB0P

Answer: B

o Watch Video Solution

2. The distance of the points (8,6) from the

origin is

A.8

B.4

C.10

D.6


https://dl.doubtnut.com/l/_4jmr85vuHB0P
https://dl.doubtnut.com/l/_nCywK0Y509Pd

Answer: C

o Watch Video Solution

3. The distance between points A (6,0) and

B(0,8) is

A. 14 units

B. 2 units

C. 10 units

D. 7 units


https://dl.doubtnut.com/l/_nCywK0Y509Pd
https://dl.doubtnut.com/l/_0qbFlWyWDFoy

Answer: C

o Watch Video Solution

4.1f the distance between A (h,12) and origin is

13 units , then the value of h is are

A L5

B.4

C.x3

D.2


https://dl.doubtnut.com/l/_0qbFlWyWDFoy
https://dl.doubtnut.com/l/_MyQ2rokk9DhP

Answer: A::C

o Watch Video Solution

5. The point on x-axis which is equidistant

from points A (-1, 0) and B(5, 0) is

A. (0,2)

B. (2,0)

C. (3,0)

D. (0,3)


https://dl.doubtnut.com/l/_MyQ2rokk9DhP
https://dl.doubtnut.com/l/_6jThdmuXIEND

Answer: B

o Watch Video Solution

6. If the points (-4,0) and (4,8) are equidistant

from point (0,k) , find the value of k.

A 4

B.-4

C.4

D.O


https://dl.doubtnut.com/l/_6jThdmuXIEND
https://dl.doubtnut.com/l/_uZB4qk9BOXZT

Answer: C

o View Text Solution

7.1f the point (xy) is equidistant from (7,1) and

(3,5), then

A. x+y=2

B. x-y=2

C. y=x+2

D. x+y=-2


https://dl.doubtnut.com/l/_uZB4qk9BOXZT
https://dl.doubtnut.com/l/_wsIjClxGzSiP

Answer: B

o View Text Solution

8. The perimeter of a triangle with vertices

(0,3) (0,0) and (4,0) is

A5

B. 12

C.9

D. 16


https://dl.doubtnut.com/l/_wsIjClxGzSiP
https://dl.doubtnut.com/l/_XR6WQcG6H2LS

Answer: B

o Watch Video Solution

9. ABCD is a rectangle whose three vertices are

A (0,4) B (0,0) and C (3,0) . The length of its

diagonal is

A5

B.3

C.6

D. 4


https://dl.doubtnut.com/l/_XR6WQcG6H2LS
https://dl.doubtnut.com/l/_yswYo7NinZUW

Answer: A

o Watch Video Solution

10. The points (-4,0),(4,0) and (0,3) are the

verticess of a

A. a right angled triangle

B. an isosceles triangle

C. an equilateral triangle

D. an equilateral triangles


https://dl.doubtnut.com/l/_yswYo7NinZUW
https://dl.doubtnut.com/l/_lff2Jah4UyDq

Answer: B

o Watch Video Solution

11. Which of the points A (1,2), B (-2,2) , C (-3,-4)

and D (4,-1) is nearest to the origin ?

A A

B.B

C.C

D.D


https://dl.doubtnut.com/l/_lff2Jah4UyDq
https://dl.doubtnut.com/l/_zzM4jZ4uQa8x

Answer: A

o Watch Video Solution

12. The co-ordinates of point which divides the
segment joining A (0,4) and B (6,0) in the ratio

1:2 are


https://dl.doubtnut.com/l/_zzM4jZ4uQa8x
https://dl.doubtnut.com/l/_Q4CxYJQGx9nk

Answer: C

o Watch Video Solution

13. In what ratio does the point P(2, -5) divide

the line segment joining A(-3, 5) and B(4, -9)?

Al:3

B.3:1

C.1:4

D.3:4


https://dl.doubtnut.com/l/_Q4CxYJQGx9nk
https://dl.doubtnut.com/l/_VmgeV4nFJG88

Answer: A

o Watch Video Solution

14. If point P (1,1) divides line segment joining

the points A and B (-1,-1) in the ratio 5: 2, then

co-ordinates of A are

A. (3,3)

B. (6,6)

C.(2,2)

D. (1,1)


https://dl.doubtnut.com/l/_VmgeV4nFJG88
https://dl.doubtnut.com/l/_cVzKfsqSzY6x

Answer: B

o Watch Video Solution

15. The point which divides the line segment

joining the points (5,4) and (-13,1) in the ratio

2:1 lies in the

A. | quadrant

B. Il quadrant

C. lll quadrant

D. IV quadrant


https://dl.doubtnut.com/l/_cVzKfsqSzY6x
https://dl.doubtnut.com/l/_OCXuPQr3SKts

Answer: B

o Watch Video Solution

16. The ratio in which X -axis divides the

segment joining (-4,3) and (2,-6) is

Al:2

B.2:1

C.1:3

D.3:1


https://dl.doubtnut.com/l/_OCXuPQr3SKts
https://dl.doubtnut.com/l/_EfOyOSYLr3tY

Answer: A

o Watch Video Solution

17. The line segment joining the points (-1,-2)

and (2,8) is divided by Y -axis in the ratio

A2:1

B.1:2

C.2:3

D.3:2


https://dl.doubtnut.com/l/_EfOyOSYLr3tY
https://dl.doubtnut.com/l/_ALevYBSFtYZO

Answer: B

o View Text Solution

18. The co-ordinates of the midpoint of

segment joining A (3,4) and B (5,-2) are .......

A. (1,4)

B. (4,3)

C.(1,3)

D. (4,1)


https://dl.doubtnut.com/l/_ALevYBSFtYZO
https://dl.doubtnut.com/l/_Pah6SYMohdZo

Answer: D

o View Text Solution

19. If the line joining A (3,3) and a point B has

midpoint at origin , then co-ordinates of B are

A. (3,-3)

B. (-3,-3)

C.(-3,3)

D. (0,0)


https://dl.doubtnut.com/l/_Pah6SYMohdZo
https://dl.doubtnut.com/l/_EmI5KTuyAWz7

Answer: B

o Watch Video Solution

20. If (5,6) is the midpoint of the line segment

joining (6,5) and (4,k), then the value of K is

A5

B.6

C.7

D.8


https://dl.doubtnut.com/l/_EmI5KTuyAWz7
https://dl.doubtnut.com/l/_oH4e3bvfw5zp

Answer: C

o View Text Solution

21. In the figure , point P is the centre of the

circle and AB is the diameter . The co-ordinates


https://dl.doubtnut.com/l/_oH4e3bvfw5zp
https://dl.doubtnut.com/l/_LZFiQVmPVRZ3

of A are

A

B(2, 3)

A. (6,7)

B. (-6,7)


https://dl.doubtnut.com/l/_LZFiQVmPVRZ3

Answer: B

o Watch Video Solution

22. In the figure , if P (5,-3) and Q(3,y) are the
points of trisection of the line segment joining

the points A (-2,-5) and B (2,-5) . then y equals?

A2


https://dl.doubtnut.com/l/_LZFiQVmPVRZ3
https://dl.doubtnut.com/l/_OeQAnxbPYHen

B.4

Answer: C

o Watch Video Solution

23. The point which lies on the perpendicular
bisector of the line segment joining the points

A(-2,-5) and B (2,5) is


https://dl.doubtnut.com/l/_OeQAnxbPYHen
https://dl.doubtnut.com/l/_ix5WPFJ0L9fL

A. (0,0)

B. (0,2)

C.(2,0)

D. (-2,0)

Answer: A

° Watch Video Solution

24.1f A(4, 9), B(2, 3) and C(6, 5) are the

vertices of ABC', then the length of median


https://dl.doubtnut.com/l/_ix5WPFJ0L9fL
https://dl.doubtnut.com/l/_ayXys65xZDAs

through C'is (a) 5 units (b) \/E units (c) 25
units (d) 10 units

A. /5

B.,/10

C. 25

D.10

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ayXys65xZDAs

25.In A PQR, G (6,-2) is the centroid . If P

(3,-5) and Q(11,-4) , then co-ordinates of R are

A. (3,4)

B. (4,3)

C.(-3,4)

D. (4,-3)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KsZJ67QLWaUX
https://dl.doubtnut.com/l/_MRhfZq9ISWkj

26.In A (h,-5) , B (-1,-6) and C (4,k) are the co-
ordinates of vertices of /\ ABC whose

centroid is G (2,-4) , then the value of k is

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MRhfZq9ISWkj
https://dl.doubtnut.com/l/_WTqyfFj1HfGk

27.The slope of the parallel to Y-axis

A isO

B.is 1

C.is -1

D. cannot be determined

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WTqyfFj1HfGk

28. Write is the slope of the line which makes
an angle of 60° with positive direction of X-

axis .

N ow p
<. o=
SV

o

S-Sl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4uRzrIRsVhsJ

29. If the slope of a line is /3, the angle made
by the line with the

positive direction of X-axis is

A.30°
B.45°
C.60°

D.90°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Myg3vXNgbr2U

30. The slope of the line passing through the

points (5,-2) and (-3,-6) is ......

A2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9BwigIkotJP2
https://dl.doubtnut.com/l/_lys2cAldGcyg

31. If the slope of the line joining the points
5
(k,-3) and (-6,-8) is 1 then the value of k is

A2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lys2cAldGcyg

32.The line joining the points (1,-5) and (4,-3) is

parallel to the line joining the points .

A. (2,0) and (0,-3)

B. (-2,0) and (0,-3)

C. (-3,0) and (0,-2)

D. (-3,0) and (0,2)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_s6YvZxPJwF4g
https://dl.doubtnut.com/l/_vrlChQqm36KK

33. Which of the following points are collinear

?

A. (-2,3),(3,-1) and (-7,5)

B. (-1,1) ,(5,7) and (8,10)

C. (-3,-1),(1,-2) and (6,2)

D. (0,1) ,(3,0) and(-1,-3)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vrlChQqm36KK

34. If the points (k, 2k), (3k, 3k) and (3, 1)

: 1 2 2
are collinear, then & 3 (b) — 3 (c) 3 (d) — 3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rr0j33pTdKmu

Additional Problems For Practice

1. Find the distance between the following
points .

(i) A(0,0) ,B (-5,12)

(i) M (-4,3), N (2,-1)

(iii) P (3,-4) ,0(-3,4)

(iv) L(4,1) , M (1,3)

(v) P(-1,1) ,Q(5,7)

° Watch Video Solution



https://dl.doubtnut.com/l/_BF7lFrNUv2UM

2. Using distance formula, show that the

points (1, 5), (2,4) and (3, 3) are collinear.

o Watch Video Solution

3. Show that point
P(—-3,2)Q(1, —2) and R(9, —10) are

collinear

o Watch Video Solution



https://dl.doubtnut.com/l/_L3at5IZobC1s
https://dl.doubtnut.com/l/_qqazL8p9c6hX

4. Find the coordinates of centre of the circle
passing through the

points P(6,-6),Q (3,-7) and R(3,3)

o Watch Video Solution

5. Find the value of y if the distance between

the points A (2,-2) and B(-1,y) is 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_x30NwpKr1s2C
https://dl.doubtnut.com/l/_RQaMFFycTzIl

6. Show that point (5,3) is equidistant from the

points (1,1) and (3,-1)

° Watch Video Solution

7. Find the co-ordinates of a point on Y-axis

which is equidistant from M(-5,-2) and N (3,4)

o View Text Solution



https://dl.doubtnut.com/l/_xbSARaTbhOQJ
https://dl.doubtnut.com/l/_jArTuActNtVu

8. If point (z,y) is equidistant from points

(7,1) and (3, 5) showthat y = z — 2

° Watch Video Solution

9. Find the realation between x and y , such
that the point(xyy) is equidistant from points

(-1,8) and (3,4)

° Watch Video Solution



https://dl.doubtnut.com/l/_TWGdGc8FERUi
https://dl.doubtnut.com/l/_KNLWJSxJ7siC

10. Show that the points A(1,2),B(4,3),C(1,0) and

D(-2,-1) are the vertices of a parallelogram.

° Watch Video Solution

n.If P(-2,4),Q(4,8), R(10,5) and S(4, 1)
are the vertices of a quadrilateral, show that it

is a parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_FyfHiYfSYGYn
https://dl.doubtnut.com/l/_bJSOsozhceL4

12. Show that points (1,7),(4,2),(-1,-1) and (-4,4)

are vertices of a suare.

o Watch Video Solution

13. Show that points A (4,-1)B (6,0) C (7,-2) and

D (5,-3) are the veties of a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_qgOUOzRlnizP
https://dl.doubtnut.com/l/_LjoDTXMjRVYi

14. Show that the points P(0,2) Q(3,-1) R(-2,-6)

and S(-5,-3) are the verties of a rectangle.

° Watch Video Solution

15. A(-3,-4), B(-5,0),C(3,0) are the veties of
AABC . Fin the co-ordinates of the

circumcentre of AABC.

° Watch Video Solution



https://dl.doubtnut.com/l/_mvwNpmmH699k
https://dl.doubtnut.com/l/_BwJHnvSVLmT1

16.If A (2,7) ,B (-6,1) and C (-5,8) are the vertices
of a triangle, then find the co-ordinates of

circumcentre of that triangle .

o Watch Video Solution

17.In A PQR, if P (5,-1) ,0(-3,3) ,R (-2,6) are the
verties , then find the co-ordinates of the
circumcentre and the radius of the

circumcircle.

° Watch Video Solution



https://dl.doubtnut.com/l/_IhALuz2ZBonn
https://dl.doubtnut.com/l/_wWuB64fRcqZY

18. Find the centre and radius of the circle
passing through the points P (-7,4) ,0(0,3) and

R (-4,5)

° Watch Video Solution

19.1f A (3,5),B (7,9) and Q divides seg AB in the
ratio 2: 3, then find the co-ordinates of points

Q.

° Watch Video Solution



https://dl.doubtnut.com/l/_wWuB64fRcqZY
https://dl.doubtnut.com/l/_ZyyMhEezE2Oa
https://dl.doubtnut.com/l/_9ksRYRkBWHxp

20. If C(-2,-6) ,D (2,10) and Q divides seg CD in
the ratio 4: 3 . Find the co-ordinates of points

0.

o Watch Video Solution

21. If point T divides the segment AB with A
(-7,4) and B (-6,-5) in the ratio 7: 2, find the co-

ordinates of T

o Watch Video Solution



https://dl.doubtnut.com/l/_djIDdEYa6wdn
https://dl.doubtnut.com/l/_2CkukSXBe84B
https://dl.doubtnut.com/l/_W7kvFSJHmlER

22. If point P(-4,6) divides the line segment AB
with A(-6,10) in the

ratio 2: 1, then coordinates of the point B are

° Watch Video Solution

23. The line segment LM is divided by point B
(7,2) in the ratio 2: 1 if | (5,4) , then find the co-

ordinates of M

° Watch Video Solution



https://dl.doubtnut.com/l/_W7kvFSJHmlER
https://dl.doubtnut.com/l/_eIunUVoCbRuL

24. A (12,5) B (4,-3) and A-P-B . Find the ratio in

which point P (9,2) divides segment AB.

° Watch Video Solution

25. Find the coordinates of the points of
trisection of the line segment joining the

points (2,-2) and (-7,-4)

° Watch Video Solution



https://dl.doubtnut.com/l/_dJFYMO8KYvkL
https://dl.doubtnut.com/l/_69QdtqycLiB4

26. If P is the midpoint of line segment AB with
A( —4,2) and B(6,2) then coordinates of

point P are.

o Watch Video Solution

27. If A(— 14, —10), B(6, —2) is given.
Find the coordinates of the points which

divide segment AB into four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_mMkDeog8Ut4o
https://dl.doubtnut.com/l/_ryj8ZooSKGS7
https://dl.doubtnut.com/l/_g1l40uaXFTFf

28. In AABC , the co-ordinates of vertices AB
and C are (4,7) ,(-2,3) and (2,1) respectively .

Find the lengths of its medinas.

o View Text Solution

29. The centroid of A PQR is G (2,-4), and
P(3,-5) and Q(-1,6) are its vertices. Then find

the co-ordinates of R.

o Watch Video Solution



https://dl.doubtnut.com/l/_g1l40uaXFTFf
https://dl.doubtnut.com/l/_o5zW0d8K0nby
https://dl.doubtnut.com/l/_F6UF7M7bVdAq

30. Find the slope of the following lines.

(i) Line parallel to X-axis .

(i) Line passing through the points A(-2,-3)
and B(2,4)

(iii) Line passing through the points P (3,2) and
Q(4,1) .

(iv) Line passing through the points A(-3,5) and
B (4,-1).

(v) Line passing through points C(3,5) and
D(-2,-3) .

(vi) Line passing through the points A (6,-2)

and B (-3,4) .

I o Watch Video Solution


https://dl.doubtnut.com/l/_F6UF7M7bVdAq

31.If slope of the line joining points P(k,0) and

2
Q(-3,-2) is = ,then find k.

o Watch Video Solution

32. Using slope concept, check whether the
following points are collinear or not.

(i) A(7,8), B(-5,2) and (3,6)

(i) X(-1,3) ,Y(8,-3) and Z(2,1)

(i) A(-2,-2) ,B (1,1) and D (3,3)



https://dl.doubtnut.com/l/_F6UF7M7bVdAq
https://dl.doubtnut.com/l/_Mb4fW7B6SbHf
https://dl.doubtnut.com/l/_dreZphGGxJRW

o Watch Video Solution

33. Show that points P (-2,3) ,Q0(1,2) ,R(4,1) are

collinear.

o Watch Video Solution

34. Show that points P (3,1) ,Q(-1,9) ,and R(4,-1)

are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_dreZphGGxJRW
https://dl.doubtnut.com/l/_sCSLD6tfhYLL
https://dl.doubtnut.com/l/_yvLpDSfCjuVB
https://dl.doubtnut.com/l/_lhxDGXv0DZd4

35. Find the value of k, if the points A(-1,1)

B(5,7) and C(8,k) are collinear

o Watch Video Solution

36. Find the value of k, so that line joining the
points A (3k) and B(2,7) is parallel to line

joining the points C(-1,4) and D(0,6).

° View Text Solution



https://dl.doubtnut.com/l/_lhxDGXv0DZd4
https://dl.doubtnut.com/l/_xk76p4cC5YfB

37. Show that L] ABCD is a parallelogram if A

(4,8) ,B(5,5), C(2,4) ,D(1,7) .

o Watch Video Solution

38. If A(6,1) ,B(8,2) ,C(9,4) and D (7,3) are the
vertices of [J ABCD, show that [J ABCD is a

parallelogram.

o Watch Video Solution

Chapter Assessment


https://dl.doubtnut.com/l/_Vu9XmFuBRpQt
https://dl.doubtnut.com/l/_cHFpxT8Pq13W

1. Choose the correct alternative.

(i) The distance of Q (3,-1) from the origin is
A. 2 units
B. 4 units
C. /5 units

D. /10units

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hGdUxI1D8FLG

2. Choose the correct alternative.
(i) The midpoint of the segment joining the

points A (-5,6) and B (-6,5) is ......

A111
"\ 27 2

o ()
2 7 2
C.(ll —11)
27 2
D.(_ll 11)
2 72
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KjfRn2RQ2hdK

3. Choose the correct alternative.

(iii) if point P divides segment joining (-5,6)

and B (3,-5) in the co-ordinates of points P are

A. (-2,-2)

B. (-1,-1)

C.(-3,1)

D. (1,-3)

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_3EAQE85qdL7d

4.The slope of X axis is.....

A.O

N

o

[ \W)
w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MTQJ9jJ4zVWi

5. Solve the following quations . (Any one )
(i) Find the slope of the lines making 45° and

90° with the direction of X-axis .

o Watch Video Solution

6. Find the co-ordinates of a point on Y-axis

which is equidistant from S (-3,-1) and T (2,-2) .

° Watch Video Solution



https://dl.doubtnut.com/l/_DDIIgNWCnlhD
https://dl.doubtnut.com/l/_cfTHOYVZmave

7. Find k if the line passing through points

1
P(—12, —3) and Q(4, k) has slope 5

° Watch Video Solution

8.Find the slope of line | which is parallel to X -
axis . Also , find the slope of line n which is

parallel to Y-axis .

° Watch Video Solution



https://dl.doubtnut.com/l/_y2bSdWwDu8h9
https://dl.doubtnut.com/l/_XxTsdizb6Ppu

9. Solve the following questions. (Any two )
(i) Check if the points (3,9) , (0,6) and (-4,2) are

collinear or not..

o Watch Video Solution

10. Solve the following questions. (Any two )
(i) Find the ratio in which point Q (-1,4) divides

the line segment joining R (0,6) and S(-4,-2) .

o Watch Video Solution



https://dl.doubtnut.com/l/_EmxkuAD7jyzW
https://dl.doubtnut.com/l/_5kjy76itQsNz
https://dl.doubtnut.com/l/_XuVKw08Wy1oQ

11. Solve the following questions. (Any two )
(iii) Find the co-ordinates of the centroid of A
ABC if A(-3,2) B (-6,-1) and C (0,5) are its

vertices.

° Watch Video Solution

12. Show that points
A(—4, —7),B(—-1,2),C(8,5) and

D(5, — 4) are the vertices of rhombus ABCD.

° Watch Video Solution



https://dl.doubtnut.com/l/_XuVKw08Wy1oQ
https://dl.doubtnut.com/l/_8EosnbyvigrA

13. Solve the following questions. (Any two )
(i) Find the co-ordinates of the points which
divides the segment joining P(-6,10) and

Q(-10,-2) into four equal parts .

o Watch Video Solution

14. Solve the following questions. (Any two )
(i) Find the lengths of the medians of a
triangle whose vertices are (8,2) ,(-2,0) and (-4,

-2) .

| & I


https://dl.doubtnut.com/l/_Yry7S5tm11Ha
https://dl.doubtnut.com/l/_nmmnSbwnuuFI

| ¥ Watch Video Solution |

15. Solve the following questions. (Any two )
(iv) Find the ratio in which point P (k,7) divides
the segment joining A (8,9) and B (1,2) . Also

find k.

o Watch Video Solution

16. Prove that the points (3, 0), (6, 4) and (-1, 3)
are the vertices of a right angled isosceles

triangle.


https://dl.doubtnut.com/l/_nmmnSbwnuuFI
https://dl.doubtnut.com/l/_gf4wNAtqw45A
https://dl.doubtnut.com/l/_q0ATfqrgQAsD

° Watch Video Solution

17. Points A(-1,y) and B(5, 7) lie on a circle with
centre O(2, -3y) . Find the values of y. Hence,

find the radius of the circle.

° Watch Video Solution

18. Solve the following questions. (Any two )

(1) Point R divides seg PQ externally in the ratio


https://dl.doubtnut.com/l/_q0ATfqrgQAsD
https://dl.doubtnut.com/l/_ecIeJjTTVycK
https://dl.doubtnut.com/l/_8OukVkViwP7p

3:1 and P-Q-R. find the ratio in which point Q

divides seg PR.

o View Text Solution

19. Solve the following questions. (Any two )

(ii) A (15,5) ,B(9,20) and A-P-B . Find the ratio in
which point P(11,15) divides segment AB. Find
the ratio using x and y co-ordinates . Write the

conclusion .

o Watch Video Solution



https://dl.doubtnut.com/l/_8OukVkViwP7p
https://dl.doubtnut.com/l/_XJt9K2OA318y




